Joooooooogog
000

gbooobooboogobooooboobobooobooooboooboobooooo
00000 é(2,7)000000000O0OOO0O0O0O0OOOOOOOOOOOOOODODOD
gbooboboboboboboobooboboboobooboboboobobo
gbbogoboooobuooboobbuooboobboobuooboboboboobooon

1 OJbOoooboood

00000000 zeCOODOOO0OO0TeC(Imr>0)00000000000000
gboooobooboboobooboboobobooboboooboog
o0

0(z,7) = — }E: e (n+1/2)2 7+ (2n+1)(2+1/2)} (2,7 €C, Im7 > 0)

n=—oo

Im7>0000000 [ <1000000000000000000-,0000000
gboooogobooboboboobobooboooboobooboboobobo
gboooooooooooooooooooooooooooooooooon

e(z,—1> = —iv/=ir "7 0(z,7) (1)
T T

Ooo0oboooddoooooooooboooooo oo oo ddImT >0
000Im (-1)>000000000000000000000000000000000
ddoooooooooooobobooooooob oo ooooooooooooooon
0D000000-iv—ir0O0000 /7 000000000000000000000
0oddoddooooooooouoooobooooooooooooooooooooao
00000000000006(z,7)00000000000 —iv—ir000 e™*/7000
oo oouoboooooooouooooon

()00000000100000000000000000 6(z,70(2,-1)"' 000
0000000000000000000000000000000000000 —iv/—ir
0000000000000 0000000O0O00o0D0ooooooooooooO@ oo
00000000 10006(2,7)0000000006(2,-)000000000000
0000000000 (1))Uooo0o0o00ooOO0o0U00bOOOoOoDoDobOoOoOOoOo0Oo
gdodobodooouoooooobooooouoooooon

00000000 ()0DooOoooOoUo0oU0oOoooooUooOOogd(z,n)0O0O0O0
0000000000000 0000000000000C**/700000000000
000000000 —iv/—ir0oo f(z,7) 000000000 0OODOOOOOOOO(M)O
Ooddooooooooooodoooooooooooooooooooooooon
0000000000 (1)DooooO0o0D0D0oOOOO000ODOODUO0bOOOOOO0OOo

gbooooboobooboooboooboonbooo



2 00000 6y(z7)000

ooooo ()OO —iv—rooo e™#/T000000000000000 9(7 —;)D

f(z,7) 0000000000 ODOOOUOODOO0OOOOOOOOOOUODODOOOODOOO
gboogoobooboobboobooboboooobboobooboobobooo

o0

(@)oo = [[(1—2¢")  (2,9€C, || <1)
n=0

00000000000 (1;9)ee=0000 (25¢9)ee = (1 —2) - (¢75¢9)0o 00000000
O00z:=€2"* ¢:=e>7" 00000000000000000O00O000O00OOO0
O000000006(z,,7)000000000000000000000O0O000O0

o0

9(2,7’) _ Il‘em'(q-/zlfz) H(l o eZm'(nJrl)‘r)(l _ 627ri(n‘r+z))(1 - e27ri((n+1)7'fz))
n=0
= i€ (g q)oo (%3 0) oo 0/ 9) oo (2)

oboboboboboboboob 0b00b0 zx000000D00D00D 200000
boboobooboobobooboobobuooboboobooooboboooobooboo
gboooooooooooogoooogo

00(2,7) := (23 ¢)0o(q/7; @)oo (3)

D000060(0,7) = 0060p(2 + 1,7) = 0o(2,7)06p(2 + 7,7) = —€2™*0y(2,7)000 0
Oo(tr—2,7)=6y(2,7) 00 00O0O0O0ODO

3 O(z,7)00000O0

00000000 6(2,7)000000O0O0000OODOOO0OODOOOOOOODODOOO
gboooobobooboboobooboobobobbooboobDn

1_y:exp(_z{:> (11 < 1)
n=1

oooobodbolegdboboobooboobobobboobobobboboooboLO
gboo0oooooooidood0 mz>000000000000DO00OO0DODODO

[e.e]

(#50)00 = (1 — e TR

k=0

_ ﬁ exp {_ i eQm'n(z+kn—) }
k=0 "

n=1

X 0 2min(z+kT)
_ wp{_§:§:€7l}

k=0n=1

& 27rmz o
= exp 75 : § : 2minkT

n=1 =

o 27rznz
= ©oxp Z TL 627rzn7'

n=1




gbooboboooboboobooboboobobobobooboooboboobob
O00OobooOoc;,0b00000O00Dogon

o0 e2minz e2mizt
(%3 ¢)o0 = exp 4 — ; n(l — ezminry [~ &P {/6'1 H(1 — eZmit)(1 — e27ri7't)dt}

000000000000 00000ZzZ000 {&ER |prez}00t=n>0000000

627Tizt 627rizt eQm’nz
Res #(1 — e2mit)(1 — e2mirt) tlg%(t - n)t(l T emit)(1 — e2mitt) | 2min(1 — e2minT)

ocoooooboobc,oooooobodoooooboOooooooDoOoboboOooDoOon
O00mz<Im7O0O00O0OO0O0O0 C,0000000000D000O0C00D0O00OCO

—> e2minz e2mizt
. — _ S N — . ——dt
(¢/2;q)oc = exp ngl n(1 — e2mint) exp /C1 #(1 — e2mit)(1 — e2mitt)

O00000000<Imz<Im7000000000 6y(2,7)0000000000O0O0

& 27rmz 627rizt
GO(Z 7— = €xp Z e27rzn7' = exXp { (/; /C ) 627rit)(1 _ eQTriTt) dt}
— 1 1

0000000000000 (z,7)0 90(—7 —= DDDDDDDDDDDDDDDDD

4 6)(2,7)000000000

(1)0000 6y(2,7)00000000000000000000 Go(z,7)6 (—2, —;)‘1
0000000000000000000000006,(-%,-4)000000000000
000 6y(2,7)000000 -0 -20070 -1 0000000000000000000
000000000000 0000000000o0,1,7,7+10400000000000

Ubooboobob -00000000000000

oot ([0 et o)

Oo(z,7)0 0y (—2,-1) 00D0DODD0OO00D0000 bo(z,7)0 (-2,-1)7' OO

T

gboooobooboobbooboobbo«t0t0O0o0obbooboobbooon

9 ( 2 1> / +/ 6727rizt gt
0\ ——,—— | =€Xp i —oni
T T Ci oy, t(1 — e2mitt) (1 — e—2mit)

oooooooooobobbbbbbbbbooooooooooon 6y, 00,000




00000000000000000000 6y(2,7)0000000000000000
0000 6p(r—2,7) =6o(2,7) 000000 6 (2,-1) =6 (-%,-) 0000000

00dddooooooooooobooddd z:01—-z00000000000000
z 1 o= 2mi(1-2)t
o\7m77) = ~ _ gt
0( T’ 7-) exp{</cl/.r+/01/7_> t(1_627rz7't)(1_e_2mt)
2mizt
R / +/ : dt
= exp : |
Ciy Jo_y,, ) 1 —ePT(1 = e2m)

0006(27)0 6 (~2,-1) 0000000000000 00000O00000000

T

fo )e(z ﬁﬂ / il ’
2, T —, == = exp —i—/ +/ —i—/ - - t
0 0 - - . Corr B Cu)e t(l _ 627rzt)(1 _ 627r1,‘rt)

gbooo4000boobobooboobobooboooooboboooboobon
O000ooo0o0o0oooooooooooboooonooon oLy, 0, cyoooooon
gboboboooboboobobooboboobooboobobbobooboon
gbobobobooobooobobuoboooobobobooboboboobooobo
gbbooobodoboobboooobooboobbuoobooboboooboaon

oood
gooooo

goboogboboooooobboooon

2 1 -1 e27rizt
90(,2, 7‘) 90 (—T, —7_> = exp {/CO t(l _ e27rit)(1 — eQﬂ'i’Tt)dt}

gbooobooboboobobboooboobonoooboobobooboboobm

Y vy
2 12 720

y =
ey —1

00000000000+ '000000000000000000000000000

g2mizt 22 z z 1 1

_
R . I A
R 11— e2mit)(1 —e2mimt) 27 27 2 12

127 71



0000C00000000000000000000000006(z,7)0 (-2,-1)7"
O0000006(27)000000000000000000000

z 1 22z T 1 1
7 ¥ A 4
0< = 7_> exp{m(T = Z+6+67+2>} o(z,7) (4)

bodgbudgbdb0u0dbuabougboobooboboboboobboboobo
OO000OO00DbOO00O0O0000DoOog zeCOO0O0ODOODOD
obzO0r—z0000000000D000D0O0O0O

z 1 . 22 z T 1 1
6o <T’_T>_6Xp{m<7'+7'_Z+6+67'_2>}90(Z’T) (5)

()0ooo0o0oo00oO0O000O0U000O00O0UO0O0LOO0O0DODOOoUOOOOD
0000040 (b)000 (1)Do0oo0o0O00D0DU0D0bOoOoOO0ooDUDUobOoOoODOoOoOo

5 (¢;9)0000n(r)000000000

0(z,7)0 6y(2,7) 0000000000000 3000000000000000200
00000000000000000000100000 (¢9)00000000000
00000040000 2=0000000000000000000000000

000 (2;9)ee 1000 (139)ee=000000000000000

d . (x; Q)oo - 0
(2 q) e - 1
dx (:L', Q) rx=1 a:l—>rnl x—1
H(l —zq")
. n=>0
= lim
rx—1 rx—1
(o]
1 _m
= gglyl vq")
= (69

O0000(l;9q)ee=0000000000000000000

d

;E;{(x;q%m(Q/x;qu}‘xzﬂ:: (g q)?

D0000z=e>?¢g=¢e>"0000000000000000

d , )
i%@mgﬂ——%u%@m

O00000¢ =e2™/700000000000000O0

d z 1
Lo (2 2
dz O< T’ 7')

0000006y (0,7r)=000000 (40000 z=00000000000000O0

271 N2 T 1 1 o 9
T(Q#])oo _eXp{m<6+67+2>}{ 2mi (Q7q)oo}

B 211

2
(q
T

/

1 q )oo

z=0



gbbodobbuoobboobobotsoobbooboboobbooooobbodiDr =4
O0000000000000000000 (¢;9)00000000000000O0O0

@%ﬂm—¢jﬁprZQﬁiJ}@®m (6)

00000000D000000 5(r)=¢"% (¢;9)ee 1000000000000000
0oOoooo0o0o000gn(-2) =v—irg(r) 000000000000000O00000

T

00000 ()OooooOoUooOoooooUooooooUooooooo

6 Q(Z,T)DDDDDDDDDDDD
0000(G)0 (6)00 (1H)0DD000000000((2)000 3)000
0(z,7) = ie™ 47D (¢: @)oo O0(2,7)

O0000000000O0O0O0000ooooooODO (1)ooooooo
9(2’_1> = ™ VA =2/T) (¢ Voo B0 <Z’_1>

T T
. 1 z
= expymi|—— ——
P 4r T
22z
xexp{m’ <+—z+
T T
22 T
= v —iTexp {m‘ <T 4+ - - z> } (¢;9)ocbo(z,7)
= —iV —iT@”Zz/TO(z,T)

000 ()000000000000000000000 (4)0000()0 (60000
0()000000000000000000000000000000000000000
0000000 (4)00000000000000000000000000000000
000000000000000000

000000000000 (1)006(2,,-)000000000000000000000
00000000000 ¢(z,,7)00000000000000000 6(2,7)000000
(2)0000000 (1)0000000000000000000000000000000
00000000000000000000000000000000000000000
00000000000000000000000000000000000000000
0000000000000000000

000 (0000000)



